1. Complete the number sentence by expressing each part using hundredths. Model using the place value

chart, as shown in Problem 1(a).
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C. 1tenth+12 hundredths= 2.1 hundredths

2. Solve by converting all addends to hundredths before solving.

a. 1tenth + 3 hundredths = IO hundredths + 3 hundredths = ‘3 hundredths

b Stanthe+ 12 hundvedin= S0 nusdredtis+ 1% nundredites (01 fundrede

c. 7tenths + 27 hundredths = 70 hundredths + -21 hundredths = Q']' hundredths

d. 37 hundredths + 7 tenths = 5 1 hundredths + 70 hundredths = |O1 hundredths



3. Find the sum. Convert tenths to hundredths as needed. Write your answer as a decimal.
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4. Solve. Write your answer as a decimal,
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5. Beaker A has :T; liter of iodine and is then filled the rest of the way with water up to 1 liter. Beaker B has

% liter of iodine and is then filled the rest of the way with water up to 1 liter. If both beakers are emptied
into a large beaker, how much iodine will be in the large beaker?
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The larger beaker will have |03 walliliters of iodine.



